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Script generated by TTT class A {
public static void p (Object o) { System.out.println(e); }
public void ml (A a) { p("m1(A) in A"); }
public void m1 O { ml(new BO); }
public void m2 (A a) { p("m2(A) in A"); }
public void m2 () { m2(this) ; }
Title: Petter: Programmiersprachen_Uebung | peee vordmd (B o) L malthis); ’
class B extends A {
(09122016) public void ml (B b) { p("m1(B) in B"); +
public void m2 (A a) { p("m2(A) in B"); +
. . . i public void m2 (B b) { p("m2(B) in B"); }
Date: Fri Dec 09 08:31:11 CET 2016 public void m3 (B b { super (b ; )
}
Durat[on 6214 m|n What is the output of the following statements?
1. A a=mnew BO; a.ni((Ba);
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class 4 { I ic void p (Object o) { System.out.printin(o); } |
public static void p (Object o) { System.out.println(o); X voi{ p('mi(A) in A"); "y
public void m1 (A a) { p("m1(A) in A"); } i void M 0 mi(new BO); b
public void m1 () { ml (new B()); } i void m2 (A a) { p("m2(A) in A"); }
public void m2 (A a) { p("m2(A) in A"); } i void m2 () { m2(this); }
public void m2 O { m2(this) ; } void m3 (B b) { m2(this) ; }
public void m3 (B b) { m2(this) ; + {

} 7 void m1 (B b) { p("m1(B) in B"); }

class B extends A { i void m2 (A a) { p("m2(A) in B"); iy
public void m1 (B b) { p("m1(B) in B"); } void m2 (B b) { p("n2(B) in B"); ¥
public void m2 (A a) { p("m2(A) in B"); } voidn3 (B b) < super.n1(b); '
public void m2 (B b) { p("m2(B) in B"); }
public void m3 (B b) { super .m1(b); } What is the output of the following statements?

b 1. A a=new B(); a.m1((B)a);

What is the output of the following statements? e e e et

1. A a = new B(); a.ml); 2. A a=new B(); ( a).ml(a);
[®) B
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N N X X ; public stgtic void p  (Ubject o ystem.ols. printinio);

publTC static voELd p (Object o) { Syftem,out.prlj‘.ntln(o) B public i) void ml (A a) { P("miCA) in A"): T
public void ml (A a) { p("m1(A) in A"); + | publi void T A mi0mew BO) 3
public void m1 () { ml(new B()); } void m2 (A a) { p("m2(A) m—'k")‘ }
public void m2 (A a) { p("m2(A) in A"); } ve;d m2 O { m2(:h.?s)‘ }
public void m2 O { m2(this); ¥ s veld m3 (B ) L m2(chiz); ’
public void m3 (B b) { m2(this); } clas: extends A {

i void mi (B b) { p("mi(B) in B"); T

clas; 9 extends A { void m2 (A a) { p("m2(4A) in B"); 3
P ic void ml (B b) { p("m1(B) in B"); } public void w2 (B b) { p("m2(B) in B"); T
public voi ST p('m2(4) in BY) . } public void m3 (B b) { super.mi(b); 3
public void m2 (B b) { p("m2(B) in B"); }
public void m3 (B b) { super.m1(b); } What is the output of the following statements?

+ 1. A= new BO; ami((Ba);
What is the output of the following statements? SRR
1. A a=newBO; ani((B)a): 2. A a = new BO; ((B)a).mi(a);

3. Aa=mew BO; ((Bla).ni((Bla);
2. A a=mnew BO; ((B)a).nl(a);

4.Bb =mnew BO; b.ul();

H .;%a),ml(%a); Vi /l (cbs ‘l"’\(:g N

3. A a=ne
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PUGIIC Btatic void p o \UDject © STem. oUL.printInio) ;
public void m1 (A &) { p(*ni(A) in A }
public void m1 () { m1(nes BO) }
veid p (Dbject o) { System.out.println(e); } public void m2 ?A a) { p\‘:mz\r‘) in A"); b3
void mi (A a) { p("mi(d) in A" ¥ public voldm2 O £ w2(thie); :
void m1 ) { ni(new B() ¥ public void m3 (B b) { n2(this); 3
p Cm20a) in A® }
::id n2.0 2 { zz’:i;;) in A7) § class B extends A {
o ) < 4 mgjmlA‘ : public void m1 (B b) { B("n1(B) in B"); 3
N N public void m2 (A a) { p("m2(A) in B"); }
. public void m2 (B b) { p("n2(B) in B"); 3
p void nl (B b) { p("n1(B) in B") ¥ public void m3 (B b) { super.ni(b) 3
public void m2 (A a) { p("m2(4) in B") ¥ i
public void W B B) L p("m2(B) in B") : What is the ontput of the following statements?
public void m3 (B b) { super.ni(b) ; }
3 1. A a=newB(O; ani((Ba)
What is the output of the following statements?
L Aa-new BO; anl((Ba) 2 A a-newBO; ((Ba).ni(a)
2. A a=newBO; ((Ba).nifa); 3. 4 a=nevwBO; ((Bla).ni((B)a)
3. Aa=new BO; ((Ba) ni((Bla) 4 B b =new BO; b.ni()
4.Bb=new BO; bnl(); 5 Bb - new BO; b.i2()

B

Lot ] w2 (A T, _ R U VRS
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Given this Progran:

putflic pl*a2(4) in
pubfic void 82 () { B2(this); 3
pubfic void 53 (B b) { B2(this); 3

public

What is the output of the following statenicn

1 ka=newB0:a=i((Bla)

2 4 a =new BO: ((B)a) =i(a)

3. 4 a=nev BO; ((Ba)=1((B)a);

4B b =new B(); bxi();

5B b =new BO: bs2();

6. A b =new BO: bs2();

o w AA) T A
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public (A a4 pUni(h) in A%);
public void m1 () { mi(new BO);
public void 52 (A a) { pu2(4) in A7)
public void w2 () { u2(this);
public void 83 (B b) { u2(this);

Class B extends 4 {

public void m1 (B b) { pOml(B) i B
public void m2 (A a) { POm2(A) i B
public void m2 (B b) { pOm2(B) i B

public void 53 (B b) { super. x1(b);

What s the outpu foll owi

1 Aa=new BO; ani((B)a)

2 A= new B ((B)a) =i(a);

3. & a = mew BO; ((B)a) mi((B)a);

4B b - new BO; bual();

5B b - new B; b.u2()

6. A b = new BO); b.a2()

7.8 1= new BO (®)a)
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Assignment 6.2 Dispatching in Java  straight from the exam 2014

Given this Java progean:

interface 1 {

default void hoo (B b) { ApChoo(8) n 10: ¥
class 4 {
public static wvoid p (Object o} { System out pri y
public void foo (A a, B'b) { p(*foo(A,B) in ¥
public void goo (B b) { pl*goo(®)  in y
public void hoo (B b) { p(*hoo(B)  in ¥

class B extends A {

void foo (B b, A &) { p("foo(B,A) in B"); y
public void goo (A a) { pligeo(d)  in B'); y
public void hoo (B b) 4 pl*hoo(B)  in B'); y

class C extends A izplemente 1 {
public void hoo (B b) { pt*hoo(B)  in €") ¥

Can the following states

s be compiled 10 codes

1B b =new BO: b.hoo(b)

What is their output at rntime

2 B b = nev B public void hoo(B b){ super hoo(bl:} }: bohoolh)

3.8 b = new BO; ((Ab) b

4B b = nev BO; ((A)b) goo((A)B);

5. B b = new B(); bgoo(b);

aevian0|_ || |T 2|34 |.Eetter : bash — Konsole |&sheet06.pdf

Given this Java program:

interface I {

detaut void hoo (B b) £ &pChoo(8)
class A {
public static voidp (Dbject o)
public void foo (A a, B b) {
public void goo (B b) < pl'goo(B)  in
public void hoo (B b) < p(*hoo(B)  in

Class B extends A ¢

X
oo v (63

public void foo (B b, A &) { p("fee(B,A) in B*);
public void goo (4 2) p("goo(a)  in B%);
public void heo (B b) { p(*hoo(B) in B"); )
I Tlass C extends A implements I {
Can the following statements be compiled to code? What is their output at runtime?

1B b= nes BO; bohoo(b):
£,

B = new

{ public void hoo(B b){ super hoo(b)

¢ ¢l (B BB

b = new BO); ((A)b) hoo(b)

4B b = new BO; ((A)b) goo((Ab);

¢
/

5B b = mew

G.B b = new BO; bofos(b,b);
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Assignment 6.3 Multiple Dispatching in Java

Is the following code Multi-Java conform?

interface Base { }
interface A extends Base { }
interface B extends Base { }

class Foo {
public void m(BaseCA a) { }
public void m(Base@B b) { }
}

If not, can you think of a scenario where we might encounter a run-time error?

Assignment 6.4 Multiple Dispatching in Java

Consider the following code fragment (taken from the paper MultiJava: Design, imple-
mentation, and evaluation of a Java-compatible language supporting modular open classes
and symmetric multiple dispatch):
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public abstract class Picture {
public abstract boolean similar(Picture p);

}

// compilation unit "JPEG"
import thesis.Picture;
public class JPEG extends Picture {
public boolean similar(Picture@JPEG j) { /* ... */ }
}

// compilation unit "GIF"
import thesis.Picture;
public class GIF extends Picture {
public boolean similar(PictureQGIF g) { /* ... */ }
}

Can you think of any problem one might encounter with this piece of code?

Assignment 6.5 Multiple Dispatching in Java

™ 1 1.1 AF LT [al . r 1 i
ﬂdﬁaﬂ(ﬁ\_ \‘TE.\ = |T 2 \ 3 \ 4 \-petter : bash — Konsole |~ sheet06.pdf

// compilation unit "Picture"

package thesis;

public abstract class Picture {

Ipublic abstract boolean similar(Picture p); I

}

// compilation unit "JPEG"
import thesis.Picture;
public class JPEG extends Picture {

public boolean similar(Picture@JPEG i) { /* ... %/ }
) —

// compilation unit "GIF"
import thesis.Picture;
public class GIF extends Picture {

public boolean similar(Picture@GIF g) { /* ... */ }
) —

Can you think of any problem one might encounter with this piece of code?
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petter@nichaels-t420s:

Can you think of any problem one might encounter with this picce of code?

Assignment 6.5 Multiple Dispatching in Java
't Dance.mp3 . o e .
free- Download the Multi-Java-System from http://multijava.sf.net/and start writing a Multi-
Java-Program:

1. Test Your Multi-Java-Compiler with the Natural Numbers Class from the slides

2. Disassemble the source code with javap, locate and understand your code

tsitor Pattern which is used by the following expres-

3. Familiarize yourself with the ¥
sion evaluation visitor (comprising constants, sum and products) written in plain

lineTicket.pdf Java:

petter@michaels-t420s
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mit e px
Multiply.jimple

Can you think of any problem one might encounter with this piece of code?

Assignment 6.5 Multiple Dispatching in Java
Download the Multi-Java-S
Java-Program:

rstem from http://multijava.sf.net and start writing a Multi-

ichaels-t420s: L
ichaels-t420s L 1. Test Your Multi-Java-Compiler with the Natural Numbers Class from the slides

2. Disassemble the source code with javap, locate and understand your code

bumper-fetchand
bumper.c bumper-semaphore c r -
ichaels-t420s: - Jjar 3. Familiarize yourself with the Visitor Pattern which is used by the following expres-
sion evaluation visitor (comprising constants, sum and products) written in plain
Java:
c-1_3 . r p, al t e
ichaels-t420s n nputExt: n n ispl 3
| tutorial : bash
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import java.util.Set;
import java.util.HashSet;

class Natural
private int number;

public int hashCode() { return new Integer(number).hashCode(); }

public Natural(int n) { number=Math.abs(n); }

public boolean equals(Object@Natural n) {
System.out.println(“Equals(Object@Natural): is called");
return n.number == number;

].

public boolean equals(Object n) {
System.out.println(“Equals(Object): is called");
return false;

1

ng toString() {
atNumber "+number;

class MJ
public static void main(String[] args) {

- Ml.java Top (11,36) Git-master (Java/l FlyC- company Abbrev)

G emacs@michaels-t420s ]

& emacs@michaels-t420s
ubli

private

ceban()_ | B 4| |[T] 2] 3] 4 | Bexercise07-dispatching : em...

boolean equals(java.lan:
Code:

0: aload_1
instanceof
ifeq 16
aload 0
aload_1
checkcast
invokespecial
ireturn
aload 0
aload_1
invokespecial
ireturn

#2; //class Natural

#2; /[/class Natural
#28; //Method equalss$body3$0: (LNatural;)Z

#31; //Method equals$body3$l:(Ljava/lang/Object;)Z

boolean equalss$body3$0(Natural);
Code:
1 getstatic #38; //Field java/lang/System.out:Ljava/io/PrintStream;
ldc #40; //String Equals(Object@Natural): is called
invokevirtual #46; //Method java/io/PrintStream.println:(Ljava/lang/String;)V
aload_1
getfield
aload_0
getfield
if_icmpeq
iconst_0
ireturn
Natural.javap

#21; //Field number:I

#21; //Field number:I
21

Top (1,0) Git-master (Fundamental company)
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public abstract class Picture {
public abstract boolean similar(Picture p);

}

// compilation unit "JPEG"
import thesis.Picture;
public class JPEG extends Picture {

public boolean similar(Picture@ i) L /* */ }
¥
// compilation unit "GIF"
import thesis.Picture;
public class GIF extends Picture {
public boolean similar(Picture@GIF g) { /* ... */ }

}

Can you think of any problem one might encounter with this piece of code?

Assignment 6.5 Multiple Dispatching in Java

c 1

L Joo: 16.:25]

. I e ar
& emacs@michaels-t420s

& emacs@michaels-t420s

private
Code:
0:

private
Code:
0:

wban®|_ | 4| [T 2] 3] 4] Blexercise07-dispatching : em...

5 X
boolean equals$body3$0(Natural);

getstatic #38; //Field java/lang/System.out:Ljava/io/PrintStream;
ldc #40; //String Equals(Object@Natural): is called
invokevirtual #46; //Method java/io/PrintStream.println
aload_1
getfield
aload_0
getfield #21; //Field number:I
if_icmpeq 21

iconst_0

ireturn

iconst_1

ireturn

java/lang/String; )V

#21; //Field number:I

boolean equals$body3$1(java.lang.Object);

getstatic #38; //Field java/lang/System.out
ldec #49; //String Equals(Object): is called
invokevirtual #46; //Method java/io/PrintStream.println
aload_0
aload_1
invokespecial
ireturn

java/io/PrintStream;

java/lang/String; )V

#51; //Method java/lang/Object.equals:(Ljava/lang/Object;)Z

Natural.javap Bot (30,0) Git-master (Fundamental company)
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Code:
H aload 1
instanc of #2; /[/class Natural
ifeq 6
aload_0
aload 1 p . : AT . . R I fe Pyieee . .7
checkeast #2: //class Natural Can you think of any problem one might encounter with this piece of code?
invokespecial  #28; //Method equals$body3$0:(LNatural;)Z . ) . . )
ireturn Assignment 6.5 Multiple Dispatching in Java
:1{2::_? Download the Multi-Java-System from http://multijava.sf.net/and start writing a Multi-
invokespecial  #31; //Method equals$body3$l:(Ljava/lang/Object;)Z Java-Program:
ireturn

1. Test Your Multi-Java-Compiler with the Natural Numbers Class from the slides
private boolean equals$body3$0(Natural);

Geidlay . . ) . . 2. Disassemble the source code with javap, locate and understand your code

0: getstatic #38; //Field java/lang/System.ou ava/io/PrintStream; -
.iLﬁ::rokevif:ﬁe'll//s;:‘ltling//ﬁgzﬁbj(?:3:;:93:2:1:;‘1&;:.;?Eﬁn java/lang/String; )V 3. Familiarize yourself with the Visitor Pattern which is used by the following expres-
aload_1 sion evaluation visitor (comprising constants, sum and products) written in plain
getfield #21; //Field number:I Java:
aload 0
getfield #21; //Field number:I
if_icmpeq 21
iconst_0
ireturn 3

Natural.javap Top (4,15) Git-master (Fundamental company)
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Can you think of any problem one might encounter with this piece of code?

Assignment 6.5 Multiple Dispatching in Java abstract class Exp {

Download the Multi-Java-System from http://multijava.sf.net and start writing a Multi-
Java-Program: public abstract int accept(EvalVisitorJava v);

1. Test Your Multi-Java-Compiler with the Natural Numbers Class from the slides static class Const extends Exp {

2. Disassemble the source code with javap, locate and understand your code int value;
3. Familiarize yourself with the Visitor Pattern which is used by the following expres- public Const(int val) { value=val; }
sion evaluation visitor (comprising constants, sum and products) written in plain
Java: public int accept(EvalVisitorJava v) { return v.visit(this); }
}

static abstract class BinExp extends Exp {
Exp left;
Exp right;

public BinExp(Exp 1, Exp r) {
wban®|_ [T 4| [T 2] 3] 4] Blexercise07-dispatching : em... [<sheet06.pdf & emacs@michaels-t420s | ]
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int value;
public Const(int val) { value=val; }

public int accept(EvalVisitorJava v) { return v.visit(this); }

}

static abstract class extends Exp {
Exp left;
Exp right;

public BinExp(Exp 1, Exp r) {
left=1;
right=r;

}

public int accept(EvalVisitorJava v) { return v.visit(this); }

static class Sum extends BinExp {
cwan®|_ |B| Y| |[T] 2| 3] 4 | Wexercise07-dispatching : em... [2sheet06.pdf
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abstract class Exp {
public abstract int accept(EvalVisitorJava v);

static class Const extends Exp {
int value;

public Const(int val) { value=val; }

public int accept(EvalVisitorJava v) { return v.visit(this); }

¥

static abstract class BinExp extends Exp {
Exp left;
Exp right;

public BinExp(Exp 1, Exp r) {
left=1;
right=r;
woan®|_ || U] [T 2| 3] 4] Blexercise07-dispatching : em... [<sheet06.pdf
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int value;
public Const(int val) { value=val; }

public int accept(EvalVisitorJava v) { return v.visit(this); }

}

static abstract class BinExp extends Exp {
Exp left;
Exp right;

public BinExp(Exp 1, Exp r) {
left=1;
right=r;

}

public int accept(EvalVisitorJava v) { return v.visit(this); }

static class Sum extends BinExp {
ceban()_ | B 4| |[T] 2] 3] 4 | Wexercise07-dispatching : em... [Z/sheet06.pdf
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return v.visit(this);

static abstract class BinExp extends Exp {
Exp left;
Exp right;

public BinExp(Exp 1, Exp r) {
left=1;

right=r;
}

public int accept(EvalVisitorJava v) { return v.visit(this); }

}

static class Sum extends BinExp {
public Sum(Exp 1, Exp r) { super(l, r); }

public int accept(EvalVisitorJava v) { return v.visit(this); }

& emacs@michaels-t420s -] J09:24:47]
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abstract class Exp {
public abstract int accept(EvalVisitorJava v);

static class Const extends Exp {
int value;

public Const(int val) { value=val; }

public int accept(EvalVisitorJava v) { return v.visit ({3

}

static abstract class BinExp extends Exp {
Exp left;
Exp right;

public BinExp(Exp 1, Exp r) {
left=1;
right=r;
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static class Const extends Exp {
int value;

public Const(int val) { value=val; }

public int accept(EvalVisitorJava v) { return v.visit(this); }

¥

static abstract class BinExp extends Exp {
Exp left;
Exp right;

public BinExp(Exp 1, Exp r) {
left=1;
right=r;

}

public int accept(EvalVisitorJava v) { return v.visit(this); }

G emacs@michaels-t420s | =

|«sheet06.pdf =

Datei Bearbeiten Ansicht Gehezu Lesezeichen Hilfe

-1 5274% ~ =l

int visit(Sum s) { return s.left.accept(this) + s.right.accept(this); }

int visit(Prod p) { return p-left.accept(this) * p.right.accept(this); }

int visit(Exp e) { return e.accept(this); }

}

class ExpJava {

&emacs@michaels-t420s =m
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class ExpJava {

public static void main(String[] args) {
Exp e = new Exp.Sum(new Exp.Const(1),
new Exp.Prod(new Exp.Sum(new Exp.Const(2),
new Exp.Const(5)),
new Exp.Const(3)));
System.out.println(new Exp.EvalVisitorJava().visit(e));
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int visit(Sum s) { return s.left.accept(this) + s.right.accept(this); } class ExpJava {
int visit(Prod p) { return p.left.accept(this) * p.right.accept(this); }

int visit(Exp e) { return e.accept(this); }
}

class ExpJava {

public static void main(String[] args) {
4 Exp e = new Exp.Sum(new Exp.Const(1),
new Exp.Prod(new Exp.Sum(new Exp.Const(2),
new Exp.Const(5)),
new Exp.Const(3)));
System.out.println(new Exp.EvalVisitorJava().visit(e));

}
}
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abstract class Exp {
public BinExp(Exp 1, Exp r) {
left=1;
right=r;

static class Const extends Exp {

int value;
}
public Const(int val) { value=val; } }
R

I
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static class Sum extends BinExp {
static abstract class BinExp extends Exp { public Sum(Exp 1, Exp r) { super(l,r); }
Exp left;

Exp right;

1
s

static class Prod extends BinExp {
public BinExp(Exp 1, Exp r) { public Prod(Exp 1, Exp r) { super(l,r): }

1
s

class EvalVisitor {
static int visit(Exp@Const c) { return c.value; }
static int visit(Exp@Sum s) { return visit(s.left) + visit(s.right); }
static int visit(Exp@Prod p) { return visit(p.left) visit(p.right); }
static int visit(Exp e) { throw new RuntimeException("unhandled case"); }

static class Sum extends BinExp {

public Sum(Exp 1, Exp r) { super(l,r); }
}

static class Prod extends BinExp {
public Prod(Exp 1, Exp r) { super(l,r); } class ExpMultiJava

1
J
public static void main(String[] args) {
Exp e = new Exp.Sum(new Exp.Const(1),

class EvalVisitor {
:--- ExpMultilava.java 18% (26,0) Git-master (Java/l FlyC- company Abbrev)

-:--- ExpMultilava.java Top (1,0) Git-master (Java/l FlyC- company Abbrev)
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abstract class Exp right=r;

static class Const extends Exp { }
int value;

static class Sum extends BinExp {
public Const(int val) { value=val; } public Sum(Exp 1, Exp r) { super(l,r); }
1

WONOWEWN P

static abstract class BinExp extends Exp { static class Prod extends BinExp {
Exp left; public Prod(Exp 1, Exp r) { super(l,r); }
Exp right; }

public BinExp(Exp 1, Exp r) { class EvalVisitor |
left=1; static int visit(Exp@Const c) { return c.value; }
right=r; static int visit(Exp@Sum s) { return visit(s.left) + visit(s.right); }
} static int visit(Exp@Prod p) { return visit(p.left) * visit(p.right): }
} static int visit(Exp e) { throw new RuntimeException("unhandled case"); }

static class Sum extends BinExp {
public Sum(Exp 1, Exp r) { super(l,r); }
T class ExpMultiJava

static class Prod extends BinExp { public static void main(String[] args) {
public Prod(Exp 1, Exp r) { super(l,r); } Exp e = new Exp.Sum(new Exp.Const(1l)
T new Exp.Prod(new Exp.Sum(new Exp.Const(2)
new Exp.Const(5)),
class EvalVisitor { new Exp.Const(3)));
-t--- ExpMultilava.java Top (5.,0) Git-master (Java/l1 FlyC- company Abbrev) -:--- ExpMultiJava.java 23% (27,20) Git-master (Java/l FlyC- company Abbrev)
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static int visit(Exp@Sum s) { return visit(s.left) + visit(s.right): } abstract class Exp
static int visit(Exp@Prod p) { return visit(p.left) * visit(p.right); }
static int visit(Exp e) { throw new RuntimeException("unhandled case"); } static class Const extends Exp §
int value;

public Const(int val) { value=val; }
class ExpMultiJava _3

public static void main(String[] args) { static abstract class BinExp extends Exp {
Exp e = new Exp.Sum(new Exp.Const(1), Exp left;
new Exp.Prod(new Exp.Sum(new Exp.Const(2), Exp right;
new Exp.Const(5)),
new Exp.Const(3))); public BinExp(Exp 1, Exp r) {
System.out.println(Exp.EvalVisitor.visit(e)): left=1;
right=r;

}

static class Sum extends BinExp {
public Sum(Exp 1, Exp r) { super(l,r): }

static class Prod extends BinExp {
public Prod(Exp 1, Exp r) { super(l,r): }
1

class EvalVisitor {
-:--- ExpMultiJava.java Bot (42,20) Git-master (Java/l FlyC- company Abbrev) -i--- ExpMultiJava.java Top (7,3) Git-master (Java/l FlyC- company Abbrev)
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return visit(s.left) + visit(s.right); }
static int visit(Exp@Prod p) { return visit(p.left) * visit(p.right);
static int visit(Exp e) { throw new RuntimeException("unhandled case");

michaels-t420s
static int visit(Exp@Sum s) {

1
I

class ExpMultilava
public static void main(String[] args) {

Exp e = new Exp.Sum(new Exp.Const(l),
new Exp.Prod(new Exp.Sum(new Exp.Const(2),
new E: Const(5)),
new Exp.Const(3)));

System.out.println(Exp.EvalVisitor.visit(e));

o
I

(Java/1 FlyC- company Abbrev)
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-t--- ExpMultiJava.java Bot (45,0) Git-master

End of buffer
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